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Gravitational & Elastic Potential Energy Worksheet
1. An 80 kg bungee jumper leaps from the Kawarau Bridge in Queensland, NZ from a height of 43 meters above the river.  At the maximum stretch of the bungee cord, the jumper’s head is just immersed in the water.  The bungee cord’s relaxed length is 20 meters.

(i) Determine the gravitational potential energy of the jumper prior to leaving the jump platform. 
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(ii) Determine the kinetic energy at the moment the bungee cord begins to stretch.
(iii) Determine the velocity of the bungee jumper at the moment the bungee cord begins to stretch.

(iv) Determine the elastic potential energy at the moment that the bungee jumper’s head is immersed in the river.
(v) Determine k for the bungee cord.

(vi) What is the acceleration of the bungee jumper when the bungee cord is fully stretched?
(vii) What is the final height above the water that the bungee jumper will come to rest?







